2
D 1561+7 @ 25
@ 484 +8 3)2.86+7

B

@ 1561 +7=223
2
@25:2+2+9:2+0.22.--:2.22---

® 55.35+ 5 = 11.07
@ 48.4 +8 = 6.05
® 2.86+7=0.408---




ohg WAl o] A4talo 2 k2 22 o] ZAJY7?

3.12+4
D 0.078 x4 = 3.12 @0.78 x4 =312
@ 7.8x4=2312 @ 78%x4=3.12

® 78+4=23.12

B

3.12+4=0.78

U Z17F 0 1 YAl o] A2

(F)x (e £) = (BrelAe 4) Iyt

whebA] 3.12 +4 = 0.78 o] 442 0.78 x4 = 3129 Yt




3. O3 3 %ol 7P &2 AL o= AUY7R?
D 216+6 @)27.36 + 8 ® 1528 +4
@ 26117 ® 195+5

B

D21.6+6=36
@ 27.36 + 8 = 3.42
® 15.28 + 4 = 3.82
@ 26.11 +7=3.73
®195+5=39




O 44 14 3] 731 Aolel Ak 58 BE R2AL.

1D)3.78 @ 3.135 @3.56 @ 3.98 ® 3.24

1 7
3— =3.25,3- =3875
4 '8

3.25%} 3.875 Ato] 9] A= 3.78 7} 3.56 YU T




